T

1/N,, dN, /d mean p_[GeV]"

Ratio to ATLAS

N
ol

N

=
a1

0.5

0.5

13000 GeV pp
S

I T I T I T I T | T I
<pT> (ATLAS UE in Z production)

B B ATLAS

---0-- Pythia 6.428 345

----- - Pythia 6.428 346

-~ —4A— Pythia 6.428 370

- Pythia 6.428 default
— —— Pythia 8.170 default

Rivet 3.1.10, = 500k events

g
A ]

/9N q’

= 7N ™

II' = . X O

I /' \ o

A .

o O/ m 5 — <

— /N \" ] 2

o D)\ >5

— ! " N &

— &) u N\ B 8

I i —c

) T =

n ) 48

| u U — v

A SN o

/" e s PRI

% .

S S O Bl o S
A —
— \ 2
NS ]

- .'~‘\\\ —
— A A\e ]
. " .
~ N _
| . _
—A b T 1
G—ACASA e
&= l—l‘ . ‘ - ‘ye & A J. ]
- ﬁ‘.

B A A AT
: RN -

NGO N\

v -3
- O ]

1 1 | 1 1 1 1 " | 1 1 1 1

Mean pT/dr] do



	Contents
	Page 1


